Cost Accounting       QUIZ Chapter 22       Name _______________________________________


1. A disadvantage of decentralization is that it

A.  creates greater responsiveness to local needs.

B.  focuses manager's attention on the organization as a whole.

C.  does not result in a duplication of activities.

D.  encourages suboptimal decision making.

2. All of the following are benefits of decentralization EXCEPT that it

A.  creates greater responsiveness to local needs.

B.  decreases management and worker morale.

C.  leads to quicker decision making.

D.  sharpens the focus of managers.

3. Negotiated transfer prices are often employed when

A.  market prices are stable.

B.  market prices are volatile.

C.  market prices change by a regular percentage each year.

D.  goal congruence is not a major objective.
4. An advantage of a negotiated transfer price is the:

A.  close relationship between the negotiated price and the market price.

B.  negotiated transfer price preserves divisional autonomy.

C.  negotiations usually do not require much time and energy.

D.  Both B and C are correct.
5. Global Giant, a multinational corporation, has a producing subsidiary in a low tax rate country and a marketing subsidiary in a high tax country.  If Global Giant wants to minimize its worldwide tax liability, we would expect Global Giant to:

A.  stop producing in the low tax rate country

B.  stop marketing in the high tax rate country

C.  establish a low transfer price when the producing unit sells to the marketing unit

D.  establish a high transfer price when the producing unit sells to the marketing unit

6. What is the role of unused capacity within the selling division in the determination of a negotiated transfer price to another division?

7.  A management decision may be beneficial for a given profit center but not for the entire company.  From the overall company viewpoint, this decision leads to:
A.  Sub-optimization.

B.  Centralization.

C.  Goal congruence.

D.  Maximization.

8. ZoomO Corporation has two divisions: PartO and AssembO.  PartO makes and sells parts for atomic powered vehicles.  AssembO produces small atomic powered cars from purchased parts.  AssembO needs to buy 4,000 small reactor housings for next year’s car production.  Currently, the housings cost AssembO $2,000 each.  PartO is making parts for 15 different atomic-based transportation companies.  PartO is not operating at full capacity and does not expect to be at capacity any time soon.  Next year PartO expects to have enough surplus capacity to make 3,000 small reactor housings. The 1,000 additional housings would require PartO to use machines that normally make large housings.  This would result in 500 fewer large housings being produced.  The following information is available:
PartO: total fixed mfg. costs
$30,000,000

Variable costs to make small housings
750.00

Variable costs to make large housings
1,400.00

Selling price for large housings
3,500.00
Fixed cost allocated to each large housing
700.00

Fixed cost allocated to each small housing
200.00

AssembO sells atomic cars for  $350,000 each
If the managers of the two divisions were allowed to negotiate a transfer price, what will be the transfer price range?  If the small housing is made in-house and transferred, will this be in the best interest of ZoomO?  How much?

1. A disadvantage of decentralization is that it

A.  creates greater responsiveness to local needs.

B.  focuses manager's attention on the organization as a whole.

C.  does not result in a duplication of activities.

D.  encourages suboptimal decision making.

2. All of the following are benefits of decentralization EXCEPT that it

A.  creates greater responsiveness to local needs.

B.  decreases management and worker morale.

C.  leads to quicker decision making.

D.  sharpens the focus of managers.

3. Negotiated transfer prices are often employed when

A.  market prices are stable.

B.  market prices are volatile.

C.  market prices change by a regular percentage each year.

D.  goal congruence is not a major objective.

4. An advantage of a negotiated transfer price is the:

A.  close relationship between the negotiated price and the market price.

B.  negotiated transfer price preserves divisional autonomy.

C.  negotiations usually do not require much time and energy.

D.  Both B and C are correct.
5. Global Giant, a multinational corporation, has a producing subsidiary in a low tax rate country and a marketing subsidiary in a high tax country.  If Global Giant wants to minimize its worldwide tax liability, we would expect Global Giant to:

A.  stop producing in the low tax rate country

B.  stop marketing in the high tax rate country

C.  establish a low transfer price when the producing unit sells to the marketing unit

D.  establish a high transfer price when the producing unit sells to the marketing unit

6. What is the role of unused capacity within the selling division in the determination of a negotiated transfer price to another division?

Answer:


Unused capacity within the selling division affects the opportunity cost of an internal transfer.  If there is unused capacity within a selling division, there are no opportunity costs involved in an internal transfer price situation. In this situation, the transfer price is likely to be in the lower range, covering only the outlay costs involved in the production of the product.

7.  A management decision may be beneficial for a given profit center but not for the entire company.  From the overall company viewpoint, this decision leads to:

A.  Sub-optimization.

B.  Centralization.

C.  Goal congruence.

D.  Maximization.

8. ZoomO Corporation has two divisions: PartO and AssembO.  PartO makes and sells parts for atomic powered vehicles.  AssembO produces small atomic powered cars from purchased parts.  AssembO needs to buy 4,000 small reactor housings for next year’s car production.  Currently, the housings cost AssembO $2,000 each.  PartO is making parts for 15 different atomic-based transportation companies.  PartO is not operating at full capacity and does not expect to be at capacity any time soon.  Next year PartO expects to have enough surplus capacity to make 3,000 small reactor housings. The 1,000 additional housings would require PartO to use machines that normally make large housings.  This would result in 500 fewer large housings being produced.  The following information is available:

PartO: total fixed mfg. costs
$30,000,000

Variable costs to make small housings
750.00

Variable costs to make large housings
1,400.00

Selling price for large housings
3,500.00

Fixed cost allocated to each large housing
700.00

Fixed cost allocated to each small housing
200.00

AssembO sells atomic cars for  $350,000 each

If the managers of the two divisions were allowed to negotiate a transfer price, what will be the transfer price range?  If the small housing is made in-house and transferred, will this be in the best interest of ZoomO?  How much?


Max. TP = $2,000 (assume that market price will not change for year).


Min. TP = $750 + 500($3,500 – 1,400) / 4,000 = $750 + (500*2100) / 4000 = 750 + 262.50 = $1,012.50

Since “min.” is less than “max.” making in-house is best for the company.  Currently, pay $2,000 for something that would cost the company $1,012.50 to make.  This is $987.50 per small housing or $3,950,000 total!
